


CIDI Section D for Anxiety Disorders

PHOBIA
D1	On this list there are things that make some people so afraid that they  avoid them, even when there is no real danger. Please look carefully at the list at the top of the card, which includes things like animals, heights, storms being in closed spaces and seeing blood. Have you ever had an unusually strong fear or needed to avoid  any of the things on the list ?
	
A.tkfO{ ls/f km6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hLjx?af6 sf]xL a]nf ;f¥x} -ctL_ 8/fpg' ePsf] 5 <
						NO		1		YES		5
D2	;fRr} g} 8/fpg'kg]{ sf/0f gePklg tkfO{ ls/fkm6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hgfj/x?af6 -tls{g'÷6f9f /xg'_ ePsf] 5 <
						NO		1		YES		5
		IF BOTH D1 AND D2 CODED  SKIP TO D9
D3	ls/fkm6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hLjsf] -8/÷ltgLx?af6 6f9f /xg'k/]sf]n]_ tkfO{sf] hLjgdf jf sfdsfhdf sf]xLa]nf w]/} cK7\of/f] kf¥of] <		NO, NOT A LOT 		1	YES, ALOT 	5
D4	ls/fkm6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hgfj/x?sf] -8/ ÷ltgLx?af6 tls{g]_  c? dflg;x?sf] eGbf ;f¥x} g} w]/} g} lyof] <					NO		1		YES		5
A. 	ls/fkm6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hgfj/x?b]lv hlt 8/fpg'÷ts{g' kYof]{ Tof] eGbf w]/} -8/ffpg'÷tls{g'_ eof] <			NO		1		YES		5
B. 	ls/fkm6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hgfj/x?sf]  -8/÷ltgLx?af6 tls{g' k/]sf] jf 6f9f /xg' k/]sf]n]_ sf]xLa]nf tkfO{ cfkm}b]lv lbSs x'g'eof] <
		IF NO 5'S  IN D4, D4A, OR D4B SKIP TO D9
D5	olb  tkfO{n] ls/fkm6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hgfj/x?sf] glhs hfg' kg]{ eof] jf hfg'k5{ eg]/ ;f]Rbf tkfO{nfO{ w]/} g/fd|f] nfUYof] <			NO		1		YES		5
D6	tkfO{ ls/fkm6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hgfj/x?sf] glhsdf hfg' eof] jf hfg'k5{ eg]/ ;f]Rbf –
		(STARTASKING 1-14, BUT AFTER TWO ITEMS CODED 5 SKIP TO D7)
!=	tkfO{sf] 9's9'sL a9\of] jf d'6' xlNnof] <	NO		1		YES		5
@=	tkfO{nfO{ ;w}eGbf w]/} kl;gf cfof] <	NO		1		YES		5
#=	tkfO{sf] xftuf]8f -v'§f_ TolQs} sfDof] <	NO		1		YES		5
$=	tkfO{sf] d'v ;'Vvf eof] <		NO		1		YES		5
%=	tkfO{nfO{ ;f; km]g{ uf¥xf] jf :fF :jfF eof] <NO		1		YES		5
^=	tkfO{sf] 3fF6Ldf s]xL c8\lsP/ lg:;fl;P h:tf] eof] <
						NO		1		YES		5
&=	 tkfO{sf] 5ftLdf b'v]sf] jf cK7\of/f] ePsf] yfxf kfpg' eof] jf cg'ej ug'{eof] <
						NO		1		YES		5
*=	k]6df cK7\of/f] eof] jf jfsjfsL nfUof] <	NO		1		YES		5
(=	tkfO{ efpGg jf a]xf]; x'g vf]Hg' eof] <	NO		1		YES		5
!)=	tkfO{nfO{ cfkm" jf cfˆgf] j/k/sf rLh ;flRrs} x}g h:tf] nfUof] <
						NO		1		YES		5
!!=	tkfO ljr]t eO{G5 ls of kfun kf] eO{G5 ls eg]/ 8/fpg' eof] <
						NO		1		YES		5
!@=	dl/G5 ls eg]/ 8/fpg' eof] <		NO		1		YES		5
!#=	/ftf] lk/f] of lr;f] x'g'eof] <		NO		1		YES		5
!$=	tkfO{nfO emdemdfPsf] jf nl¶Psf] cg'ej eof] <
						NO		1		YES		5
D7	tkfO{n] ls/fkm6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hgfj/ b]lv -klxnf]kN6÷lk5f8LkN6_ slxn] -8/fpg' jf tls{g'_ eof] <				ONS:	1  2  3  4  5  6		AGE ONS : 	/
D8	;k{, r/fr'?ËL, ls/fkm6\ofª\u|f, ;k{, r/fr'?ËL jf cGo hgfj/x?sf] glhs /xFbf jf /xg]af/] ;f]Rbf -;f¥x} 8/fpg]÷6f9f /xg]_ sfd klxnf]kN6  / k5fl8kN6 dfq eof] ls larlardf klg eof] <
						NO		1		YES		5

D9	ca bf];|+f] ;d'xdf hfFpm, tkfO{ sf]xL a]nf cUnf], cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf,h+unx? dWo] s'g}b]lv ;f¥x} w]/} 8/fpg' ePsf] 5 <	NO		1		YES		5
D10	;flRrs} 8/nfUbf] gePklg, tkfO{ sf]xL a]nf cUnf], cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf, h+unb]lv ts{g' ePsf] 5 <					NO		1		YES		5
D11	cUnf], cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf, h+unx?sf] sf]xLa]nf -8/ jf ltgLx?af6 tls{g' kgf{n]_ tkfO{sf] hLjg -hGbuLdf_ jf sfdsfh w]/} cK7\of/f] -xfgL_ k'¥ofof] <
		NO, NOT A LOT…………………………………..1		YES……………………………………………………..5
D12	cUnf], cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf, h+unx?sf] -8/ jf ltgLx?af6 6f9f x'g÷tls{g]]_ sfd c? dflg;sf] eGbf ;f¥x} g} a];L ePsf] lyof]  <	NO		1		YES		5
A. 	pFrfO{, cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf, h+unx?sf] -8/÷ltgLx?af6 tls{g] jf 6f9f /xg] sfd_ hlt x'g'kg]{ lyof] Tof] eGBF a9\tf ePsf] lyof] <
						NO		1		YES		5
B. 	pFrfO{, cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf, h+unx?sf] -8/÷ltgLx?af6 6f9f /xgfn]÷tls{gfn]_ ubf{ tkfO{ sf]xLa]nf tkfO{ cfkm}b]lv lbSs x'g'ePsf] lyof]  <
						NO		1		YES		5
		IF NO 5'S  IN D12, D12A, OR D12B SKIP TO D17
D13	olb tkfO{n]cUnf], cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf, h+unsf] glhsdf hfg' k¥of] eg] jf hfg] af/] ;f]Rg' k¥g' k¥of] eg] tkfO{nfO{ ;f¥x} g/fd|f] nfUYof] <
						NO		1		YES		5
D14	tkfO{ cUnf] -prfO{_, cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf, h+unx?sf glhsdf hfg'eof] jf hfg'k5{ eGg] ;f]Rbf - (START ASKING 1-14, BUT AFTER TWO ITEMS CODED 5 SKIP TO D15)
		
!=	tkfO{sf] 9's9'sL a9\of] jf d'6' xlNnof] <	NO		1		YES		5
@=	tkfO{nfO{ ;w}eGbf w]/} kl;gf cfof] <	NO		1		YES		5
#=	tkfO{sf] xftuf]8f -v'§f_ TolQs} sfDof] <	NO		1		YES		5
$=	tkfO{sf] d'v ;'Vvf eof] <		NO		1		YES		5
%=	tkfO{nfO{ ;f; km]g{ uf¥xf] jf :fF :jfF eof] <NO		1		YES		5
^=	tkfO{sf] 3fF6Ldf s]xL c8\lsP/ lg:;fl;P h:tf] eof] <
						NO		1		YES		5
&=	 tkfO{sf] 5ftLdf b'v]sf] jf cK7\of/f] ePsf] yfxf kfpg' eof] jf cg'ej ug'{eof] <
						NO		1		YES		5
*=	k]6df cK7\of/f] eof] jf jfsjfsL nfUof] <	NO		1		YES		5
(=	tkfO{ efpGg jf a]xf]; x'g vf]Hg' eof] <	NO		1		YES		5
!)=	tkfO{nfO{ cfkm" jf cfˆgf] j/k/sf rLh ;flRrs} x}g h:tf] nfUof] <
						NO		1		YES		5
!!=	tkfO ljr]t eO{G5 ls of kfun kf] eO{G5 ls eg]/ 8/fpg' eof] <
						NO		1		YES		5
!@=	dl/G5 ls eg]/ 8/fpg' eof] <		NO		1		YES		5
!#=	/ftf] lk/f] of lr;f] x'g'eof] <		NO		1		YES		5
!$=	tkfO{nfO emdemdfPsf] jf nl¶Psf] cg'ej eof] <
						NO		1		YES		5
D15	cUnf] -pFrfO{_  cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf, h+unx?af6 tkfO{ klxnf]kN6 / lk5f8LkN6 tkfO{ slxn] -8/fpFg' eof]÷tls{g' eof] <		
							ONS:	1  2  3  4  5  6		AGE ONS : 	/
D16	pFrfO, cfFwLa]/L, r6\\ofË, lah'nL rDsg] tyf glb, s'jf, h+unx?af6 tkfO{ klxnf]kN6 / lk5f8LkN6 df -;f¥x} 8/fpg]÷tls{g]_ ug'{ eof] ls lardf klg To;f] ug'{eof] <
						NO		1		YES		5

D17	ca sf8{sf] t];|f] ;d'xsf cj:yfsf hfcf}+ . tkfO{ sf]xL a]nf xjfOhxfhdf p8\bf cyjf aGb 7fFp h:t}u'kmf, ;'?ª, aGb sf]7fb]lv ;f¥x} w]/} 8/fpg' ePsf] 5 <	NO		1		YES		5
D18	;flRrg} vt/f gePklg sf]xL a]nf tkfO xjfO{hxfhdf jf aGb 7fFpdf /xgaf6 -6f9f x'g' ePsf]  5 jf ts{g' _ ePsf] 5<					NO		1		YES		5
		IF BOTH D17 AND D18 CODED 1 SKIP TO D25
D19	xjfOhxfhaf6  p8\bf cyjf aGb 7fFpleq /xbfsf] -8/÷To;af6 tls{gf_ n] tkfO{sf] lhjg jf sfd sfhdf ;f¥x} afwf -xfgL÷/f]sfj6_ k'¥ofof] <		NO		1		YES		5
D20	tkfO{ xjfOhxfhaf6  p8\bf cyjf aGb 7fFpleq /xbfsf] -8/÷To;af6 tls{g]_ c? dflg;sf] eGbf Hofb} w]/} lyof] <						NO		1		YES		5
A.	tkfO{  xjfOhxfhdf p8\bf jf aGb 7fFpleq /xFbfsf] -8/÷To;af6 6f9f /xg] jf tls{g]_ c? dflg;sf]] eGbf Hofb} sd lyof] <				NO		1		YES		5
B.	xjfOhxfhdf  p8\bf jf aGb 7fFpleq /xbf -8/fpg]÷To;b]lv 6f9f /xg] jf tls{g]_ sfdn] tkfO{ cfkm}b]lv ;f¥x} lbSs x'g'eof] <					NO		1		YES		5
IF NO 5'S IN D20, D20A OR D20B SKIP TO D25
D21	tkfO{ xjfOhxfhdf p8\g'kbf{ jf aGb 7fFpleq /xg'kbf{ cyjf To;af/] ;f]Rg' kbf{ tkfO{nfO{ ;f¥x} g/fd|f] nfUYof]<
						NO		1		YES		5
D22	xjfOhxfhdf p8\g' kbf{ cyjf aGb 7fFpdf a:g' kbf{ jf a:g] af/] ;f]Rg' kbf{ - 
(START ASKING 1-14, BUT AFTER TWO ITEMS CODED 5  SKIP TO D23)
!=	tkfO{sf] 9's9'sL a9\of] jf d'6' xlNnof] <	NO		1		YES		5
@=	tkfO{nfO{ ;w}eGbf w]/} kl;gf cfof] <	NO		1		YES		5
#=	tkfO{sf] xftuf]8f -v'§f_ TolQs} sfDof] <	NO		1		YES		5
$=	tkfO{sf] d'v ;'Vvf eof] <		NO		1		YES		5
%=	tkfO{nfO{ ;f; km]g{ uf¥xf] jf :fF :jfF eof] <NO		1		YES		5
^=	tkfO{sf] 3fF6Ldf s]xL c8\lsP/ lg:;fl;P h:tf] eof] <
						NO		1		YES		5
&=	 tkfO{sf] 5ftLdf b'v]sf] jf cK7\of/f] ePsf] yfxf kfpg' eof] jf cg'ej ug'{eof] <
						NO		1		YES		5
*=	k]6df cK7\of/f] eof] jf jfsjfsL nfUof] <	NO		1		YES		5
(=	tkfO{ efpGg jf a]xf]; x'g vf]Hg' eof] <	NO		1		YES		5
!)=	tkfO{nfO{ cfkm" jf cfˆgf] j/k/sf rLh ;flRrs} x}g h:tf] nfUof] <
						NO		1		YES		5
!!=	tkfO ljr]t eO{G5 ls of kfun kf] eO{G5 ls eg]/ 8/fpg' eof] <
						NO		1		YES		5
!@=	dl/G5 ls eg]/ 8/fpg' eof] <		NO		1		YES		5
!#=	/ftf] lk/f] of lr;f] x'g'eof] <		NO		1		YES		5
!$=	tkfO{nfO emdemdfPsf] jf nl¶Psf] cg'ej eof] <
						NO		1		YES		5
D23	tkfO{ xjfOhxfhdf p8\bf jf aGb 7fFpdf /xg'kbf{ klxnf]÷ lk5f8Lk6s_ slxn] -8/fpg' eof]÷tl;{g'_ eof] <
						ONS:	1  2  3  4  5  6		AGE ONS : 	/
D24	tkfO{ xjfOhxfhdf p8\g' kbf{ jf aGb 7fFpdf /xg'kbf{ klxnf] / lk5f8LkN6 dfq -;f¥x} 8/fpg' eof]÷tls{g'_ eof] ls aLraLrdf klg ;f¥x} 8/fpg' eof] ÷tls{g'_ eof] <
						NO		1		YES		5

D25	sf8{sf lk5f8Lsf] ;d'xsf cj:yfdf hfcf}+ . /ut÷v'g b]Vbf ;'O{ nufpbf jf bfFtsf] 8fS6/sf]df jf xl:k6n -lSnlgs_df hfbf oL dWo] s'g}af6 tkfO{ s]fxLa]nf ;f¥x} 8/fpFg' ePsf] 5 <
						NO		1		YES		5
D26	;flRr g} vt/f geP klg /ut -v'g_ b]Vbf, a]hL -;'O{_ nufpFbf jf bfFtsf] 8fS6/ sxfF hfbf jf xl:k6n÷lSnlgsdf hfbf -8/fpg] ÷tls{g]_ ubf{ sf]xL a]nf tkfO{sf] lhjg jf sfdsfhdf afwf k'Uof] <
					NO, NOT A LOT ……………1	YES, ALOT …………………...5
IF BOTH D25 AND D26 CODED 1 SKIP TO D33
D27	v'g b]Vbf ÷;'O{ nufpbf jf bfFtsf] 8fS6/ sxfF hfbf -8/fpg]÷tls{g]_ ubf{ sf]xL a]nf tkfO{sf] hLjg jf sfdsfhdf afwf k'Uof] <
					NO, NOT A LOT ……………1	YES, ALOT …………………...5
D28	/ut b]Vbf, a]hL -;'O{_ nufpbf jf bfFtsf] 8fS6/ sxfF hfbf jf xl:k6n÷lSnlgsdf hfFbf  tkfO{ c? dflg;eGbf ;f¥x} g} al9 -8/fp'g'÷tls{g'_ eof] <		NO		1		YES		5
A.	/ut b]Vbf 8/fpg], a]hL -;'O{_ nufpbf jf bfFtsf] 8fS6/ sxfF hfbf jf xl:k6n÷lSnlgsdf hfFbf -8/fp'g]÷tls{]g]_ ug'{ eof] <	NO		1		YES		5
B.	tkfO{n] /ut b]Vbf 8/fpg], a]hL -;'O{_ nufpbf jf bfFtsf] 8fS6/sxfF hfbf jf xl:k6n÷lSnlgsdf hfFbf -8/fp'g' eof] eg]/÷tls{g' k¥of] eg]/_ cfkm}blv ;f¥x} lbSs x'g'eof] jf g/fd|f] dfGg' eof] <
					NO		1		YES		5
If NO 5’s in 28 skip ko D33
D29	tkfO{n] /ut -v'g_ b]Vg' eof] jf ;'O{ -a]hL_  nufpg' k¥of] jf bfFtsf] 8fS6/ sxfF hfbf jf xl:k6n÷lSnlgsdf hfFg'k¥of] eGg] af/]df ;f]Rbf ;fx} g} g/fd|f] nfUof] <
NO……………………………….1		YES……………………………….5
D30	tkfO{n] /ut -v'g_ b]Vg' eof] jf ;'O{ -a]hL_ nufpg' k¥of] jf bfFtsf] 8fS6/ sxfF hfbf jf xl:k6n÷lSnlgsdf hfFg'k¥of] eGg] af/]df ;f]Rg' kbf{  - (START ASKING 1-14, BUT AFTER TWO ITEMS CODED 5 SKIP TO D31)
!=	tkfO{sf] 9's9'sL a9\of] jf d'6' xlNnof] <	NO		1		YES		5
@=	tkfO{nfO{ ;w}eGbf w]/} kl;gf cfof] <	NO		1		YES		5
#=	tkfO{sf] xftuf]8f -v'§f_ TolQs} sfDof] <	NO		1		YES		5
$=	tkfO{sf] d'v ;'Vvf eof] <		NO		1		YES		5
%=	tkfO{nfO{ ;f; km]g{ uf¥xf] jf :fF :jfF eof] <NO		1		YES		5
^=	tkfO{sf] 3fF6Ldf s]xL c8\lsP/ lg:;fl;P h:tf] eof] <
						NO		1		YES		5
&=	 tkfO{sf] 5ftLdf b'v]sf] jf cK7\of/f] ePsf] yfxf kfpg' eof] jf cg'ej ug'{eof] <
						NO		1		YES		5
*=	k]6df cK7\of/f] eof] jf jfsjfsL nfUof] <	NO		1		YES		5
(=	tkfO{ efpGg jf a]xf]; x'g vf]Hg' eof] <	NO		1		YES		5
!)=	tkfO{nfO{ cfkm" jf cfˆgf] j/k/sf rLh ;flRrs} x}g h:tf] nfUof] <
						NO		1		YES		5
!!=	tkfO ljr]t eO{G5 ls of kfun kf] eO{G5 ls eg]/ 8/fpg' eof] <
						NO		1		YES		5
!@=	dl/G5 ls eg]/ 8/fpg' eof] <		NO		1		YES		5
!#=	/ftf] lk/f] of lr;f] x'g'eof] <		NO		1		YES		5
!$=	tkfO{nfO emdemdfPsf] jf nl¶Psf] cg'ej eof] <
						NO		1		YES		5
D31	/ut -v'g_ b]Vbf, ;'O{ -a]hL_ nufpFbf, bfFtsf] 8fS6/sf]df hfbf jf xl:k6n÷lSnlgsdf hfFg'kbf{  -klxnf]÷ lk5f8Lk6s_ slxn] -8/fpg' eof]÷tls{g'_ eof] <
ONS:	1  2  3  4  5  6		
AGE ONS : 	/
D32	/ut -v'g_ b]Vbf, ;'O{ -a]hL_ nufpFbf, bfFtsf] 8fS6/sf]df hfbf jf xl:k6n÷lSnlgsdf hfFbf -8/fpg]÷tls{]g] sfd_ klxnf] / lk5f8LkN6 dfq eof] ls larlardf klg To:tf] eof] <
	NO		1	YES		5

D33	ca d tkfO{nfO{ 8/fpFg' jf ;'tf{pg' ePsf c? cj:yfsf af/]df ;f]Wg rfxG5' . s]lx dflg;x? c?sf] cuf8L sfd ubf{ jf c?sf] Wofg pgLx?df kbf{ v'a 8/fpF5g\ .
SKIP (ALTHOUGH THE ABOVE INTRODUCTION WAS PROVIDED, THE QUESTION IS SKIPPED)
A.	tkfO{ -========================_ sf]xLa]nf Hofb} 8/fpFg' ePsf] 5:
!=	s;}n] b]Vg ;Sg] 7fpFdf vfbf jf lkpFbf?		NO		1	YES		5
@=	s'/f ug]{ sfd jf ljifo gx'Fbf jf s'/f ubf{ klg d'v{÷c;Eo jf g/fd|f] eO{g] cj:yfdf klg s'/f kbf{?
					NO		1	YES		5
#=	s;}n] b]Vg] u/L n]Vbf jf l;nfO{ a'gfO{ ubf?{	NO		1	YES		5
$=	ldl6Ë -;ef_ jf sIffdf af]Nbf jf efu lnbf?	NO		1	YES		5
%=	kf6Ldf cyjf cGo lgDtf], ef]het]/ jf ;fdflhs hd36df hfFbf?
					NO		1	YES		5
^=	efif0f ubf{?					NO		1	YES		5
&=	c? s'g} To:tf] cj:yf hlta]nf c?sf] Wofg tkfO{ dfly x'Fbf tkfO{ ;f¥x} 8/fpFg] x'g'ePsf] 5 <
					NO		1	YES		5
D34	tkfO{lt/ c?sf] Wofg kg]{ dflysf] h:tf] cj:yfaf6 tkfO{ af/Daf/ tls{g' eof] < IF CODED 5 ASK : s'gaf6 < c? s'g} <CONTINUE ASKING UNTIL R. SAYS NO. CIRCLE ITEMS MENTIONED BY R THAT HAVE NOT ALREADY BEEN CIRCLED ON D33
	IF D33A.1-7 AND D34 ALL CODED 1 SKIP TO D43
NO		1	YES		5
D35	tkfO{lt/ c?sf] Wofg kg]{ dfly eg]sf] h:tf] cj:yfx?af6 ITEMSCIRCLED 5 ON D33)  tkfO{ -8/fpg' eof]÷tls{]g' eof]_ o;af/] tkfO{n] 8S6/nfO{ eGg'eof] <	NO		1	YES		5
D36	tkfO{lt/ c?sf] Wofg kg]{ dfly eg]sf] h:tf] cj:yfx?af6 ITEMSCIRCLED 5 ON D33 -tls{g]÷8/fpFg] ug'{eof]_ c?n] tkfO{ cfQ]sf] b]V5g\ jf tkfO{nfO{ x]nf u5{g\, xf]RofpF5g\ eg]/ tkfO{n] To;f] ug'{ ePsf] xf]  <
						NO		1	YES		5
D37	c?sf] Wofg tkfO{lt/ kg]{ dfly eg]sf] h:tf] cj:yfx?af6 ITEMSCIRCLED 5 ON D33 - 8/fpFg]÷6f9f /xg]_ sfd  ;f¥x} a];L lyof] < dtna c? dflg; eGbf w]/} lyof]<NO		1	YES		5
A.	tkfO{lt/ c?sf] Wofg kg]{ cj:yfaf6 - ITEMSCIRCLED 5 ON D33) -tls{g]÷8/fpFg]]_ hlt x'g'kg]{ loyf] Tof] eGbf ;f¥x} a];L sf]xLa]nf ePsf] lyof] <	NO		1	YES		5
B.	tkfO{lt/ c?sf] Wofg kg]{ cj:yfaf6 - ITEMSCIRCLED 5 ON D33) 8/fpFgfn]÷ts{gfn] tkfO{ sf]xLa]nf cfkm}blv ;f¥x} lbSs x'g'eof]] <			NO		1	YES		5
C.	tkfO{lt/ c?sf] Wofg kg]{ cj:yf dWo] s'g}af6 tkfO{ -8/fPsf]÷tl{s{Ps]f_ ;a}eGbf nfdf] ;do slt dlxgfsf] lyof] t <
	/
	 MOS
D38	tkfO{lt/ c?sf] Wofg kg]{ dfly atfPsf]  (ITEMSCIRCLED 5 ON D33) cj:yfaf6 -tls{g]÷8/fpFg]]_ sfd dWo] s'g}n] tkfO{sf] lhjg / sfdsfhdf sf]xLa]nf w]/} afwf k'¥ofof] <
NO, NOT AT A LOT……………………………….1		YES, A LOT……………………………….5
D39	tkfO{lt/ c?sf] Wofg kg]{ dfly atfPsf]  (ITEMSCIRCLED 5 ON D33) cj:yfdf k/]sf] a]nf jf To:tf] cj:yfdf kl/G5 ls egL ;Demg' kbf{ tkfO{nfO{ ;f¥x} g/fd|f] nfUYof] <
NO		1	YES		5
D40	tkfO{lt/ c?sf] Wofg kg]{ dfly atfPsf]  (ITEMSCIRCLED 5 ON D33) cj:yfdf tkfO{ kbf{ jf To:tf cj:yfdf kl/G5 ls eg]/ ;f]Rg'kbf{ –
!=	tkfO{sf] 9's9'sL a9\of] jf d'6' xlNnof] <	NO		1		YES		5
@=	tkfO{nfO{ ;w}eGbf w]/} kl;gf cfof] <	NO		1		YES		5
#=	tkfO{sf] xftuf]8f -v'§f_ TolQs} sfDof] <	NO		1		YES		5
$=	tkfO{sf] d'v ;'Vvf eof] <		NO		1		YES		5
%=	tkfO{nfO{ ;f; km]g{ uf¥xf] jf :fF :jfF eof] <NO		1		YES		5
^=	tkfO{sf] 3fF6Ldf s]xL c8\lsP/ lg:;fl;P h:tf] eof] <
						NO		1		YES		5
&=	 tkfO{sf] 5ftLdf b'v]sf] jf cK7\of/f] ePsf] yfxf kfpg' eof] jf cg'ej ug'{eof] <
						NO		1		YES		5
*=	k]6df cK7\of/f] eof] jf jfsjfsL nfUof] <	NO		1		YES		5
(=	tkfO{ efpGg jf a]xf]; x'g vf]Hg' eof] <	NO		1		YES		5
!)=	tkfO{nfO{ cfkm" jf cfˆgf] j/k/sf rLh ;flRrs} x}g h:tf] nfUof] <
						NO		1		YES		5
!!=	tkfO ljr]t eO{G5 ls of kfun kf] eO{G5 ls eg]/ 8/fpg' eof] <
						NO		1		YES		5
!@=	dl/G5 ls eg]/ 8/fpg' eof] <		NO		1		YES		5
!#=	/ftf] lk/f] of lr;f] x'g'eof] <		NO		1		YES		5
!$=	tkfO{nfO emdemdfPsf] jf nl¶Psf] cg'ej eof] <
						NO		1		YES		5

D41	tkfO{lt/ c?sf] Wofg kg]{ dfly atfPsf]  (ITEMSCIRCLED 5 ON D33) cj:yfx?af6 -8/fpg]÷tls{g]_ sfd klxnf]÷clGtd_ k6s slxn] eof] <
ONS:	1  2  3  4  5  6		AGE ONS : 	/
D42	tkfO{lt/ c?sf] Wofg kg]{ dfly atfPsf] h:tf] cj:yfaf6 (ITEMSCIRCLED 5 ON D33) -8/fpg]÷tls{g]_ klxnf] / clGtd k6s dfq b]vf k¥of] ls larlardf klg b]vfk¥of]  <
NO		1		YES		5

D43	 ca d tkfO{x?nfO{ c? al9 cj:yfsf af/]df ;f]Wg rfxG5' hxfF tkfO{ 8/fpFg' ePsf] x'g ;SYof] <
SKIP (ALL THOUGH THE ABOVE INTRODUCTION WAS PROVIDED, THE QUESTION IS SKIPPED)
A.	tkfO{ -========================_ sf]xLa]nf Hofb} 8/fpFg' ePsf] 5 <
!=	tkfO{ 3/aflx/ PSn} x'Fbf .			NO		1	YES		5
@=	a;df, /]ndf jf ufl8df ofqf ubf{ . 		NO		1	YES		5
#=	leF8df kbf{ jf nfO{gdf pleFbf .			NO		1	YES		5
$=	;fdflhs 7fFp h:t} bf]sfg, ahf/df /xFbf .	NO		1	YES		5
D44	tkfO{ dfly atfPsf (ITEMS LISTED ON D43) h:tf ;d:ofx?af6 8/n] ubf{ af/Daf/ ts{g' ePsf] 5 <IF CODED 5, ASK WHICH ONES ?  c? s'g rflxaf6 ts{g' ePsf] 5 <
CONTINUE ASKING UNTIL R. SAYS NO. CIRCLE ITEMS MENTIONED BY R THAT HAVE NOT ALREADY BEEN CIRCLED ON CARD D3IF D33A.1-7 AND D34 ALL CODED 1 SKIP TO D54

D45	tkfO{ sf]xL a]nf tL ca:yfx?df  PSn} /xg}  g;Sg] u/L ;f/}w]/} 8/fpg' ePsf] lyof] <
NO		1	YES		5
	A.olb tkfO[n] lrg]sf] sf]lx dflg; tkfO{sf];fydf ePsf] eP dfly atfPsf] cj:yfx?df PSn} /xg ;Sg' x'GYof]<
NO……………………………….1		YES……………………………….5
D46	tkfO{n] dfly atfPsf cj:yfx?af6 (ITEMSCIRCLED 5 ON D43) cj:yfx?af6 -8/fpg]÷tls{g]_ ;d:ofsf] af]/df 8fS6/nfO{ eGg' eof] <
			PRB:	2    3   4	  5
D47	dfly atfPsf]  (ITEMSCIRCLED 5 ON D43) cj:yfdf kbf{ jf To:tf cj:yfdf hfg' k5{ eGg] ;f]Rbf -;lDembf_ sf]xLa]nf tkfO{nfO{ tkfO{nfO{ ;f¥x} g/fd|f] nfUYof] <		NO		1	YES		5
D48	tkfO{lt/ c?sf] Wofg kg]{ dfly atfPsf]  (ITEMSCIRCLED 5 ON D33) cj:yfdf kbf{ jf To:tf] cj:yfdf ;f]Rg' kbf{ –
!=	tkfO{sf] 9's9'sL a9\of] jf d'6' xlNnof] <	NO		1		YES		5
@=	tkfO{nfO{ ;w}eGbf w]/} kl;gf cfof] <	NO		1		YES		5
#=	tkfO{sf] xftuf]8f -v'§f_ TolQs} sfDof] <	NO		1		YES		5
$=	tkfO{sf] d'v ;'Vvf eof] <		NO		1		YES		5
%=	tkfO{nfO{ ;f; km]g{ uf¥xf] jf :fF :jfF eof] <NO		1		YES		5
^=	tkfO{sf] 3fF6Ldf s]xL c8\lsP/ lg:;fl;P h:tf] eof] <
						NO		1		YES		5
&=	 tkfO{sf] 5ftLdf b'v]sf] jf cK7\of/f] ePsf] yfxf kfpg' eof] jf cg'ej ug'{eof] <
						NO		1		YES		5
*=	k]6df cK7\of/f] eof] jf jfsjfsL nfUof] <	NO		1		YES		5
(=	tkfO{ efpGg jf a]xf]; x'g vf]Hg' eof] <	NO		1		YES		5
!)=	tkfO{nfO{ cfkm" jf cfˆgf] j/k/sf rLh ;flRrs} x}g h:tf] nfUof] <
						NO		1		YES		5
!!=	tkfO ljr]t eO{G5 ls of kfun kf] eO{G5 ls eg]/ 8/fpg' eof] <
						NO		1		YES		5
!@=	dl/G5 ls eg]/ 8/fpg' eof] <		NO		1		YES		5
!#=	/ftf] lk/f] of lr;f] x'g'eof] <		NO		1		YES		5
!$=	tkfO{nfO emdemdfPsf] jf nl¶Psf] cg'ej eof] <
						NO		1		YES		5
D49	tL  (ITEMSCIRCLED 5 ON D43)  ;d:ofx?dWo] s'g} ;d:of PSsf;L cfO{kbf{ efUg' ;lsb}+gYof] eg]/ dfly atfPsf] cj:yfx?df -8/fpg]÷tls{g]_ ug'{ ePsf] lyof] <	NO		1	YES		5
D50	tL (ITEMSCIRCLED 5 ON D43)  ;d:ofx?dWo] s'g} ;d:of PSsf;L cfO{kbf{ efUg' ;lsb}+gYof] eg]/ dfly atfPsf] cj:yfx?df -8/fpg]÷tls{g]_ ug'{ePsf] lyof] <	NO		1	YES		5
D51	dfly atfPsf]  (ITEMSCIRCLED 5 ON D43)  cj:yfx?dWo] s'g} cj:yfdf -8/fpg]÷tls{g]_  c? dflg;x? eGbf tkfO{df ;f¥x} a];L ePsf] lyof] <				NO		1	YES		5
A.	dfly atfPsf]  (ITEMSCIRCLED 5 ON D43)  dWo] s'g} cj:yfb]lv -8/fpg]÷tls{g]_  hlt x'g'kYof]{ Tof] eGbf a];L ePsf] lyof] <				NO		1	YES		5
B.	dfly atfPsf]  (ITEMSCIRCLED 5 ON D43)  cj:yfaf6 -8/ nfUof]÷tls{g' k¥of]_ eg]/ sf]xLa]nf tkfO{ cfkm}b]lv Hofb} lbSs x'g'eof] <			NO		1	YES		5

D52	dfly atfPsf] (ITEMSCIRCLED 5 ON D43)  cj:yfx?af6 -kxLnf]kN6 ÷k5fl8kN6 _ -tls{g]÷8/fpg]_ slxn] x'g'eof]_ <						ONS:	1  2  3  4  5  6		AGE ONS : 	/
D53 	dfly jtfPsf (ITEMSCIRCLED 5 ON D43)  ca:yfx?af6 Hofb} -8/fpg]÷tls{g]_ sfd klxnf]kN6 / clGtdkN6 dfq eof] ls aLrlardf klg To:tf] eof] <		NO		1	YES		5



PANIC DISORDER
D54  	ca d tkfO{nfO{ hxfF ;'s} PSsf;L ;fx}+  w]/} 8/ nfUg] ;dosf] af/]df ;f]Wg rfxfG5' . tkfO{nfO{ sf]xL a]nf PSsf;L ;fx|} w]/} 8/ nfu]sf] jf cflQg' ePsf] lyof] <	
				NO……(SKIP TO D56)……….1		YES………………………………….5
D55	tkfO{ d5'{ ls afR5' eGg] ca:yfdf x'Fbf tkfO{ PSsf;L ;fx} w]/} 8/fpg' eof]  <
				NO……(SKIP TO D56)……….1		YES………………………………….5
A.	tkfO{ d5'{ ls afR5' eGg] cj:yfdf gePsf a]nf tkfO{ PSsf;L ;fx} w]/} 8/fpg] x'g'eof] <
				NO……(SKIP TO D63)……….1		YES………………………………….5
D56	tnsf k|Zgsf] pQ/ -hjfkm _ lbFbf tkfO{ hLjgd/0fsf] bf]wf/df  gk/]sf a]nf PSsf;L ;fx}|  w]/} 8/fpg] ePsf] a]nfsf af/]df ;Demg'xf];\ . tkfO{ Psk6seGbf a];L  ;f]Rb} g;f]r]sf] To:tf] PSsf;L ;fx|} w]/} 8/fpg] x'g'eof] <
NO……(SKIP TO D63)……….1		MORE THAN ……………….7…..ONCE………………………..…….5
D57	tkfO{ To;/L PSsf;L ;fx}|  w]/} 8/fPsf] a]nfsf af/]df ;lDemg'xf];\ . To;a]nf oL -=================_ dWo] s'g rflx ljdf/L -;d:of_ b]vf k/] <(START ASKING 1-14, BUT AFTER 4 ITEMS CODED 5 SKIP TO D58)
!=	tkfO{sf] 9's9'sL a9\of] jf d'6' xlNnof] <	NO		1		YES		5
@=	tkfO{nfO{ ;w}eGbf w]/} kl;gf cfof] <	NO		1		YES		5
#=	tkfO{sf] xftuf]8f -v'§f_ TolQs} sfDof] <	NO		1		YES		5
$=	tkfO{sf] d'v ;'Vvf eof] <		NO		1		YES		5
%=	tkfO{nfO{ ;f; km]g{ uf¥xf] jf :fF :jfF eof] <NO		1		YES		5
^=	tkfO{sf] 3fF6Ldf s]xL c8\lsP/ lg:;fl;P h:tf] eof] <
						NO		1		YES		5
&=	 tkfO{sf] 5ftLdf b'v]sf] jf cK7\of/f] ePsf] yfxf kfpg' eof] jf cg'ej ug'{eof] <
						NO		1		YES		5
*=	k]6df cK7\of/f] eof] jf jfsjfsL nfUof] <	NO		1		YES		5
(=	tkfO{ efpGg jf a]xf]; x'g vf]Hg' eof] <	NO		1		YES		5
!)=	tkfO{nfO{ cfkm" jf cfˆgf] j/k/sf rLh ;flRrs} x}g h:tf] nfUof] <
						NO		1		YES		5
!!=	tkfO ljr]t eO{G5 ls of kfun kf] eO{G5 ls eg]/ 8/fpg' eof] <
						NO		1		YES		5
!@=	dl/G5 ls eg]/ 8/fpg' eof] <		NO		1		YES		5
!#=	/ftf] lk/f] of lr;f] x'g'eof] <		NO		1		YES		5
!$=	tkfO{nfO emdemdfPsf] jf nl¶Psf] cg'ej eof] <
						NO		1		YES		5
IF LESS THAN FOUR SX ARE CODED 5 IN 1-14, SKIP TO D63
D58  	tkfO{ PSsf;L ;fx}+ w]/} 8/fpFg] jf cflQg] ePsf a]nf lt ;d:ofx? PSsf;L z'? eP / s]xL l5gleq} g/fd|/L a9]/ uP <			NO…… (SKIP TO D63)……….1		YES………………………………….5
A=	tkfO{n] PSsf;L ;fx|} w]/} 8/fpg] tkfO{n] 8fS6/nfO{ atfpg'eof] <
					PRB:	2    3   4	  5 
D59  	After having one of these attacks, was there ever a month or more when: (This sentence is repeated in each question A, B, C)  
A=	tL dWo] Psk6s ;fx|} w]/} 8/fpg] e};s]kl5 csf]{ To:t} 8/n] e]6\5 ls eg]/ tkfO{ k6sk6s Ps jf Tof] eGbf a];L dlxgf ;'tf{pg' eof] <		NO		1		YES		5
B.	tL dWo] Psk6s ;fx|} w]/} 8/fpg] e};s]kl5 dl/G5, 1fg x/fFp5 jf kfun eO{G5 ls eg]/ tkfO{n] Psdlxgf jf  Tof] eGbf a];L dlxgf ;'tf{pg' eof] <
							NO		1		YES		5

C=	tL dWo] Psk6s PSsf;L Psk6s ;fx|} w]/} 8/fpg] e};s]kl5 km]/L To;sf] 8/n]  ubf{ Ps dlxgf jf Tof] eGbf a];L;Dd tkfO{n] cfˆgf] b}lgs jf lbg}lkR5]sf sfdsfhdf km]/abn ug'{eof] <
							NO		1		YES		5
D60  	Ps}dlxgfleq rf/ v]keGbf a];L PSsf;L ;fx|} w]/} 8/fpFg] x'g'eof] <
				NO…… (SKIP TO D61)……….1		YES………………………………….5
A=	Ps dlxgfleq rf/ k|To]s xKtf slDtdf rf/k6s  tkfO{ PSsf;L ;fx|} w]/} 8/fpg] x'g''eof] <
							NO		1		YES		5
D61  	8/fpFg] jf ;'tf{ dfGg]÷lrGtf dfGg] dWo] s'g} Psn] -klxnf] v]k÷lk5f8L v]k_ PSsf;L slxn] e]§fof] <
ONS:	1  2  3  4  5  6		AGE ONS : 	/
IF NO SITUATIONS CIRCLED ON CARDS D1, D2 AND D34 SKIP TO D63
D62  	dflysf] lni6df atfPsf dWo] slx cj:yfx?af6 8/fpFg] jf tls{g] s'/f tkfO{n] atfO{;Sg' ePsf] 5 . ca eGg'xf];\ ls tkfO{ To:tf cj:yfdf ePsf] a]nf dfq PSsf;L ;fx|} w]/} 8/fpFg] x'g'ePsf] lyof] <
YES ONLY IN FEARED SITUATIONS………….1		NO AT OTHER TIMES …………………………….5

GENERALIZED ANXIETY DISORDER

D63  	ca d tkfO{nfO{ nfdf] ;do;Dd ;'tf{pg' ePsf]÷lrGtf ug'{ePsf] af/]df ;f]Wg rfxG5' . tkfO{nfO{ To:tf] Ps jf Tof] eGbf al9 dlxgfs]f ofb 5 . hlxn] tkfO{ b}lgs jf lbg} lkR5]sf ;d:ofx? h:t} sfd kl/jf/af/] w]/} h;f] ;do ;'tf{pg' eof]÷lrGtf ug'{eof] <
NO…… (SKIP TO B)……….….1		YES………………………………….5
A=	tkfO{nfO{ ;'tf{ nfu]sf] jf lrGtf nfu]sf] ;aeGbf nfdf] ;do slt dlxgfsf] 5 <
		/
	      MOS
IF D63A IS SIX MONTHS OR MORE, SKIP TO D64
B=	s'g} s'/fdf dflg;x? slt ;'tf{p5g\÷lrGtf u5{g\ eGg] s'/f dflg;}lkR5] km/s–km/s -kfO{G5_ x'G5 . tkfO{sf] h:t} ;d:ofdf k/]sf] eP csf]{ dflg;n] hlt ;'tf{ ug]{Yof] tkfO{n] cfˆgf] lhjgdf s'g}a]nf Tof] eGbf a];L ;'tf{ ug'{eof] <		NO…… (SKIP TO E1)…….….1		YES………………….5
C=	tkfO{n] ef]Ug'ePsf] To:tf] lsl;dsf] cj:yfsf] ;a}eGbf nfdf] ;do slt dlxgfsf] lyof] <
		/
	    MOS
			IF D63C IS LESS THAN SIX MONTHS , SKIP TO E1.
D64	tkfO{ ^ dlxgf jf ^ dlxgfeGbf a];L ;'tf{pg'÷lrGTff ug'{ ePsf] ;a}eGbf v/fa ;donfO{ ;Demg'xf];\ . To;a]nf 
A=	tkfO{nfO{ c? dflg; eGbf ;f¥x} a];L ;'tf{P÷ lrGtf u/] h:tf] nfU5 <
			NO		1		YES		5
B.	To:tf] s'/fsf af/]df w]/} lbg h;f] tkfO{ ;'tf{pg'÷lrGtf ug'{eof] <
			NO		1		YES		5
C=	;'tf{ /f]Sg cˆ7\of/f] eof] <
			NO		1		YES		5
D=	vf; u/L s:tf s'/fdf tkfO{n] ;'tf{ lng' eof] < lrGtf lng'eof]  <
OWN SX, BEING OVERWEIGHT, DRUGS………….1		ANYTHING ELSE …………………………………………….5
D65  	d s]xL dflg;x?nfO{ a];L ;'tf{÷lrGtf nfu]sf] a]nfdf nfUg] u/]sf /f]ux?sf] af/]df atfpF5' . cfkm"n] ;'tf{ eof]÷lrGtf  lnPsf] ;a}eGbf v/fa ;do ;Demg' xf];\ . To; ;dodf –
!= 	s] ug]{ s;f] ug]{ eg]/ 56k6L eof] <	NO	1		YES	5
@ = 	;lhn} ylst x'g'eof] <			NO	1		YES	5
# = 	ub}{ u/]sf] sfddf Wofg k'¥ofpg g;Sg] xg'eof] <
						NO	1		YES	5
$= 	;a}eGbf a];L ems{g] x'g'eof] <		NO	1		YES	5
%= 	df;' b'Vg] jf c/l/g] eof] <		NO	1		YES	5
^= 	lgGb|f gnfUg] ;d:of eof]  <		NO	1		YES	5
&= 	d'6' xlNng] tyf 9's9's ug]{ eof] <	NO	1		YES	5
*= 	kl;gf cfpg] eof] <			NO	1		YES	5
(= 	xft v'§f TolQs} sfDg] eof] <<		NO	1		YES	5
!)= 	d'v ;'VVff x'g] eof] <			NO	1		YES	5
IF NO 5'S ARE CODED IN 1-11, , SKIP TO E1. IF 4 OR MORE 5'S ARE CODED IN 1-11, SKIP TO D66. OTHERS ASK 12-24, BUT SKIP TO D66 AFTER A TOTAL OF 4 ITEMS ARE CODED 5 IN 1-24.
!!= 	;f; km]g{ uf¥xf] kg]{ eof] <		NO	1		YES	5
!@=	3fF6Ldf s]xL c8\s] h:tf] efg x'g] eof]] <	NO	1		YES	5
!#=	5ftL b'Vg] / :jfF :jfF x'g] ;d:of eof] <	NO	1		YES	5
!$=	k]6 b'Vg] jf c;lhnf] eof] <		NO	1		YES	5
!%=	jfs\jfs nfUg] eof] <			NO	1		YES	5
!^=	efpGg x'g] l/ª\u6f nfUg] eof] <		NO	1		YES	5
!&=	cfkm" / cfkm" jl/k/Lsf lrh ;fFRr} gePh:tf] nfUg] eof] <
						NO	1		YES	5
!*= 	lhpF yfDg ;lSbgsL eg]/ 8/fpg], kfun h:tf] Joaxf/ ug]{ jf a]xf]; x'g' eof] <
						NO	1		YES	5
!(=	dl/G5 ls eg]/ x/fpg' eof]] <		NO	1		YES	5
@)=	/ftf] lk/f] of lr;f] x'g'eof] <		NO	1		YES	5
@!=	hLp nfl6g] jf  emdemdfpg] eof] <	NO	1		YES	5
@@= 	3fF6Ldf luvf{ jf 8Nnf] a;]h:tf] eof] <	NO	1		YES	5
@#= 	;lhn} eml:sg' jf tl;{g' eof]  <		NO	1		YES	5
ITEMS CODED 5 ON CARD D5 IF LESS THAN 4 ITEMS CIRCLED SKIP TO E1	

D66 	nfdf] ;do;Dd ;'tf{÷lrGtf ug'{ePsf] cyjf dfly eg]sf s]xL ;d:ofx? klg ePsf] af/]df tkfO{n] 8fS6/nfO{ eGg'eof] <			PRB:	2    3   4	  5 

D67 	nfdf] ;do;Dd ;'tf{n] ;tfPsf] sf/0fn] tkfO{n] sf]xLa]nf ;fx|} lbSs x'g'eof] <
				NO	1		YES	5
D68 	;'tf{n] ;tfPsf] sf/0fn] tkfO{sf] hLjgdf jf sfdsfhdf sf]xLa]nf ;f¥x} xfgL eof] <
			NO,  NOT AT ALL…………..1		YES, A LOT…………………….5
D69 ONS : 	tkfO{ ^ dlxgf jf Tof] eGbf -al9_ a];L dlxgf lrGtf ug'{ ÷;'tf{pg'  ePs]f / lni6Ldf ePsf c? ;d:ofx? klg ePsf] klxnf] v]k slxn] lyof]  <
ONS:	1  2  3  4  5  6		AGE ONS :   	/
         REC :	;'tf{÷lrGtf dfg]sf] / dflysf lnli6Ldf ePsf ;d:ofx? lk5f8LkN6 slxn] ;lsof] <	
REC:	1  2  3  4  5  6		AGE REC :   	/

